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1. Using linear approximation, the value of (6a.Ota;zZa is approximately equal to: - l/
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2. The radius of a circular disk is measured to be 5 cnz with a maximum error in
measurement of 0.1crn. Using differentials, the maximum error in calculating cir-
cumference of the circular disk is (in cm)
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3. Ifcosh r:: and r < 0, then 3 sinh r*5 tanh z is equal to

f}nrl 4r.r ^ c 's l^1>< - si ^Lk =
? Si^LlY.>Cosl"'zx-l = H-l

+ s\n\ax =J !,inre
3

=) 4^*L r = :\'r"L x -- -$ \ 3n
c.,rh:C J S

3St^hx+ 5l=^t"a z -{ +(-y)
4. The curve g : cosh (ln r) + 4r has a horizontal tangent ,ine at z :
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5. The function f (r): **tl
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is increasing on
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6. Ifthefunction f(*):rs+2ar2-3br*1 hasaninflectionpointat(1,2),the2a+b3
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8. If c is number satisfying the conclusion of the Mean Value Theorem when applied
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The sum of all critical numbers of the function

is
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i0. The sum of the absolute maximum value and the absolute minimum value of the
function f(r) : 2 sin r * cos 2ron the interval iO, il,tL'2J
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11. lim '':
r-+0 f
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equals 1

c) does not exist

d) equals 0

e) equals - 1

12. The slant asymptote of y :
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13. The value of ihe limit ,S.(, - sin r)L/, equals
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